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51. ^ ̂T^HR, fert ^

oijici^iRcb "nfMw fei

3lk f^TW qscial PlicKdl ■^*

"HPTfy^ 'ETE^aif ^ "TOR t I 1^-

3^ 7^ W^ fHHfdnsid

3T2f ';^ pjchddi ^ i^mr t :

(A) ^

(C) ^

(B) 3lT?qT

(D)" ^Riqiai

52. "^ddi 311^ y^ch 'jpn' "I" yctid
^  TH ^ ^ t 1 ^

FT^ im t :

(A) ^

(B) Rt^T

(C) . }

(D) ^

53. FTT "5nm# ^ ?FT ^

ct>K"i t" :

(A) (M^)

(B) ^ (IRRT)

(C) 1¥^^ (3RM)

(D) mRijii41 ?H (To)

51. According to Buddhism, a person's

cognitive and behavioural dynamics are

the interplay of mental episodes in an

ever changing environment of the

complex of citta and cetasika. This

continuum of citta and cetasika

corresponds closely to the meaning of :

(A) Mind (B) Soul

(C) Consciousness (D) Morality

52. Consciousness is an attribute of the self

that requires the mind to manifest it. It

is reflected in the views of:

(A) Advaita

(B) Samkhya Yoga

(C) Nyaya-Vaisesika ,

(D) Jaina

53. According to Indian knowledge, system,

the operative cause of knowledge is : •

(A) Subject (Pramada)

(B) Object (Prameya) .

(C) Method (Pramana)

(D) Resulting Knowledge (Prama)

(3)S/18/2024/A P.T.O.
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54. hT-sci ̂

^ I ^ chiilyuiKnl-"#^

"TT ^IHI'^ "ffk "3^ "WHTrR^

t?

'(A) ^

(B) "STWr ̂

(C) iT%7^ ̂  ' ' '

(D) ^

55. ^ 3TIHR, ^

^ 3n^7R#T

t ? . - -

(A) 4ilMdU (B)

.. (C) (D)

56. ^JM^jHcII ^ 3T3?TR, ̂  W

W^ ^nfer t :

(A) 5I^W, Hi-I,

(B) "qtrr, TTT 3Tk

(C)- 3T^ SZTR sSk 1¥rHT "

(D) Afe^VH, ̂  3fk W

(3)S/18/2024/A

54. According to Advaita Vedantic model of

personality, the Jiva (Human Being) has

five layers. Which layer is related to the

functioning of intellect-thinking or

reasoning or in general the higher-

cognitive function ?

(A) Annamaya Kosha

(B) Pranamaya Kosha

(C) Manomaya Kosha

(D) Vijananamaya Kosha

55. According to Buddhist thought, which

plane of. consciousness is related to

formless consciousness ?

(A) Kamloka (B) Rupaloka

(C) Arupaloka (D) Lokuttara

56. According to Bhagavad Gita, the method

of pursuing knowledge includes :

(A) Sravana, Manana, Nidhidhyasana ,

(B) Yoga, Tapas and Svadhyaya

(C) Astanga Yoga, Dhyana and

\fipasana

(D) Meditation, Yoga and Manthan

'1
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^ M^i:i?hH HwiPc^d ferreiT?

(A) (B.^

(C) ■ (D)

58. -f^FTB^

ywipld fen STT ?

(A) ̂it?RT "g^

(B) "fe

(C)

(D)

59. 3T3^'^ ^', 3k

^ ̂  f : .

(A) PclNHdl

(C) 371^

(B) ̂ HHdl

(D) -HHlMdl.

60. 1%^ TITO TITO ^

<$^^41, MKcilPh«?j ̂  37T?>Hi[cH«t>

^  TOTT t ?

(A) oild^KdK

(B) c^TT^T^ "rHtfWr

(C) ydil4dK

(D) HHcJdIciKi

{3)S/18/2024/A

57. Who proposed the-hierarchy of souls into

vegetative, sensitive and rational types ?
;

(A) Plato (B) Alcmaeon

(C) Aristotle (D) Socrates

58. Who proposed the Doctrine of Specific

Nerve Energies ?

(A) Johannes Muller

(B) Charles Bell

(C) Francois Magendie

(D) Helmholtz

I

59. In classical conditioning, the Conditioned

■  Stimulus (CS) and Unconditioned

Stimulus (UCS)" become associated

simply because of the law of :

(A) Contrast (B) Similarity

(C) Frequency (D) Contiguity

60. Which type of psychology focuses on the

mystical, ecastic or spiritual aspects of

human nature ?

' (A) Behaviourism

(B) Transpersonal Psychology

(C) Fimctionalism.

(D) Humanistic. Psychology

p.T.o:
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61. "f^ ^ ^ -qr

3#Tqi ^ TiqiTqfcW

' -^TT^' qq 3TsqqR 1^ ̂jfRTT t ?

, (A)

(B) y-HViicHqi

(C) ̂

(D) ̂  3^?;wr

62. ^sqq^"-^*, ̂  qit

Pi^'R^d iqrqr "^^nnr "t, 1^rt^

mRu||HW^fn4 qft rnHRriRdd -^mFTT

^3?q^ ̂  t

(A) R\ifurH=hcii "qr yfadRcii

(B) qmn m qfwrq

(C) mR qfcRq

(D) q^Ff-qTOT qjt wqr ■
1

63. \ -R^m' ii ^

q^qqrT qft qj^ Rim.* qq

■qqr sr^ iqq^Fq t i

(A) "OqtqT

.  (B) z-qitOT

.  (C) t-'R^m

(D) qq^-q^ -^m

(3)S/18/2024/A

61. Under which research problems are

functional relationships between two or

more variables studied ?

(A) Correlational.

(B) Experimental research

(C) Survey research

(D) Field study

62. In correlational studies, extraneous

variables are not controlled, resulting in
t

the following interpretation problem :

(A) Directionality or reversibility

(B) Regression to the mean problem

(C) Range restriction problem

(D) Interpretation of causality problem

63. The Mann-Whitney U-test is a good

alternative of the to compare

the means of two independent groups.

(A) ANOVA

(B), Z-test- .
\

(C) Mest

(D) x^-test

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


^  TTKT-t^ w

il ̂  1^ TTR ̂  "3^%!

ferr "sncn t ?

■ (A) TT«WT

(C) «<^Ql|ch

(B)

(D) ̂  ■

65. cfSTT

-3icrlM-3ieiM f^'^ 371^ %*

a<4i ^ "^jerI" "OTi" "^rtI" ^ mls'il

37k ^iimRa ^ ̂iTkfT "I ^ "3^

t: ■ ■ '

(A) iwrm

(B) RusJidl

(C)

(D) HudichK

66. ^ 13:^ TrfcT^ H^dldi^ui

R PtHrdRsld k* ^ Rh77^l TRlkT.

^Ricn 3TMT 3etri*iH'i ^klT ?

(A) ^ ■

(B) 3RTW^ ^TRTT

I

(C) "SRW ̂  3HTfTT?fT

(D) Vkl^TTkTcfT

(3)5/1 8/2024/A

'64. Which measure of central tendency is

used when a distribution-is not normal,

or to find the actual mid-point of a data

series ?

(A) Mean

(C) Mode

(B) Median

(D) All of these-

65. When the mean and the median fall at

different point in the distribution and the

balance is shifted to one side or the other

to left or right is called :

(A) Skewness

(B) Peakedness

(C) Kurtosis

(D) Bell-shaped

66. Which of the following would not be a

violation of ethical conduct when

conducting research and presenting a

report ?

(A) Deception

(B) Feeling discomfort by the subject

(C) Anonymity of subjects

(D) Involuntary participation

P.T.O.
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67. yRi'iHi Pi*^RiRsja

aro^i t ?

(A) yPdJinn ^ ̂  ̂ ̂ 3Tf?iT^

^  ̂ niflai PbdHl

t", W ̂  ̂5TT?it ^ \

(B) ^ "^T "3^ aTfe ̂  ̂ TTezf

^ "H^ ̂  ̂  ̂cTM t I

(C) ^ ^ ^ ̂

^  t I

(D) -ipif^ (d)1l^Pbr^ij.'Ti ^

^ 1

68. ^ ^ t,

ANOVA ^ ̂  TITO

■qr f ?

(A) ^ ^ TITO .
(B) ardfer "rto

■ (C) TTdT ^ TITO 3Tdf^
■RTO

(D) ^ TTTO tt^' afdflT^
TITO

69. Pi^^RnHaa '^* sh^<i<n ^ ai^^K
Mm aifTO^ ^ v^ TIdJR

t.?
(A) C"^) stTto^ (feiTO)

(B) TlHc^?TT#/TO TI^cd?M aifTO^

.  (C) Mm i¥%if%d stTto^

(D) arfro^

(3)S/18/2024/A I

67. . Which of " the following statement
regarding regression is incorrect ?

(A) Through regression we know the
intensity of the relationship between
two or more variables.

(B) It tells about the nature of the

relationship between two or more
variables.

(C) Can make prediction about the
other variable when one is known.

(D) Coefficient of determination is
determined.

68. In one experiment in which there are two
independent variables, how many effects
can we get using an ANOVA test ?

(A) Two main effects

(B) Two interaction effects

(C) One main effect and one interaction
effect

(D) Two main effects and one

interaction effect

69. Which of the following is not a form of
mixed method design according to
Creswell ?

(A) Phase design

(B) Dominant/Less-dominant design

(C) Mixed methodology design

(D) Latin-square design

0
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70. ■

^  ̂ t ?

(A)

(B) ^qTWT^

(C) jfeuikHcti ^

(D) 3rfe#T

71. ^ ^ ̂ aife ̂  ̂ ̂  ̂̂cbKi^qch

(A) ^ chK^ti (B) S <^iK=ti

(C) r w=fi (D) z =hi<=t)

72. "HTft mRuiihI ̂

OT

^f% t I

(A) y = b + ax (B) y = a + bx

(C) X = by + a (D) x = ay + b

73." O^'C IIFT ■'jyf ^

"^' t, ^
I

1^)^ ticfitii :

(A) sT^qm "Wtt

(B)

(C) i3;q^ Wtt

(D) j^RiPiRHCf) ^Hiii

70. Which one of the following is not a

characteristic of grounded theory

method ?

(A) Positioning

(B) Constant comparative analysis

(C) Negative case analysis

(D) Theoretical sampling

71. Apositive correlation between two ormore
than two fimctions indicates the presence
of:

(A) g factor

(C) r factor

(B) s factor

(D) z factor

72. Relationship between the measured units

and some outcomes is described by a

straight line in the form of.

(A) y = b + ax (B) y = a + bx

(C) X = by + a ' (D) x = ay + b

73. Because 0°C does not represent the

•  complete absence of heat, the Celcius

scale cannot be considered :

(A) a ratio scale

(B) a reliable scale

(C) a random scale

■ (D) a representative scale

(3)S/18/2024/A P.T.O,

AS
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74. ^ ^ ̂ t,

f 1% ^ tf ;

(A) ^ ̂  t

(B) 3M: 3T^ #rff ^

^ ̂  t

(C) ^ ■37^ t
(D) 84'#' 3Tfn?m^ TK fro t

75. HHPT -qfr^ ^ (GATB) OT
W  TTNT ^ t ?

(A) "qU^

(B) Mwhr WIT

(C) 3J|RiqT ^ PHiiuidi

(D) 3T^ ^

76. "f^ ̂  ̂ sMftqr (sf^r)
srte f ?

(A) 3Bftn

(B) yqlq^iidi

(C) ^ 3isqqq 3T5H*qR
(D)

77. ^

'4"H*=t) ^[RT y-Ald i^TR ^ '"^
311^ t I

(A) +1.00

(B) ,0.00

(C) - 1.00

(D)

(3)S/18/2024/A 8

74. If a z-score of 1.33 is obtained we know

that the person's raw score :

• (A) is about average

(B) is lower than the scores of most

other on the test

(C) is above average

(D) falls at the 84th percentile

75. Which is not measured by General
Aptitude Test Battery (GATB) ?

(A) Numerical Aptitude

(B) Clerical Perception

(C) Finger Dexterity

(D) Abstract Reasoning

76. Which" research has greater degree of
internal validity ?

(A) Field experiment research

(B) Laboratory experiment research

(C) Field study research

(D) Ex-post facto research

77. Persuasive evidence for discriminant

validity is provided by correlation
co-efficients that turn out close to :

(A) + 1.00

(B) 0.00

(C) - 1.00

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


78. "^rf^ ^ 3ff^* ^

^  if ^t^tTOT#

TR^ ̂RcIT t ̂  ̂  TTF #TT t

3;ffet ^ t I

'  (A) ̂  -^T^* ̂

(B) 3TO^

(C) ̂

(D) ̂  ̂  ̂  3Tk 3T^
(

79. -I^^^^RfNcTT ^ ̂ "^fe

^  I

(A)

(B) 3TOK

'  (C)

(D)

80. "RTtm ^ :

(A) ̂ S^T^■ ^ #£r 3M ^
t I

(B) ^ ^ ^s? 3tN^
"Cr^ t I

(C) ^ HHl-^^lPHch "qrtSB^ ^
. wT^ ^fWm ^

w % \ '

(D)
\

(3)S/18/2024/A <

78. If a _ researcher presents impressive

evidence regarding the reliability of his

or her data, it is safe to assume &at the

data are valid too.

(A) C^'t say

(B) False

(C)True

(D) Neither true nor false

79. The reliability is directly related to

the of the error score.

(A) Number

(B) Size

(C) Variation

(D) Direction

80. Norm referencing of test scores ;

(A) compares scores among test takers.

(B) requires data gathering with a

resonably large sample.

.  (C) has been used since the early

history of psychological testing.

(D)' All of the above

P.T.O.
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81. hPwmi ^ TO 1^

TTTs^; "sft TOft t, 1to

"TO ^ ^rrat ^ ?

(A) MlPi^d ̂

■  (B) "ifP^T

(C) TO "?fP«?

(D) TOTO Tfper

82. TO ^ TO TOT "=TOT t fTO^

1^ ̂  WT ̂  "TOl^ ^

."^Tfro ^ TOJtTT t ?.

'-, (A) ̂  ̂

(B) ̂ -sftPH^trl

(C)

(D) TÔ jfe TOtwi

83. MilPdvOd aflT^^f^. "PTT^^#^

I^TO 1^* TOf ^f 3TM^,

"nW ̂  ̂rfro ^ t, ̂  to

TOT ^IIcTT f ?

(A) "rtStto

(B) ^

(C) ar^^TOK ;c|7T

(D) wlfro

(3)S/18/2024/A 10

81. Endocrine "gland located near the base of

•  the cerebrum; secretes melatonin, is

named as :

(A) Pineal gland

(B) Pituitary gland

(C) Thyroid gland

(D) Parathyroid gland

82. A technique where neurons can be

activated by light rather than electricity

is called as :

(A) Deep Brain Stimulation

(B) Transcranial Magnetic Stimulation

(C) Optogenetics

(D) Computed Tomography

83. A rare progressive genetic neuro-'

muscular disorder characterized by

gradual onset of uncontrollable, jerky

movements in limbs, is called as :

(A) Parkinson disease

(B) Huntington disease

(C) Alzheimer disease

(D) Mitosis

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


/

- I

84.- Pcrl^el

^ «t)l4 ^ ?

(A) '^<T'i "Rra "^ttftt

(B) 1%^ ̂ CH"1

(C) ^ mrii

(D) "^nifoH -srS"! .«t><'ii

85. ^ ^ t, ̂  i(^

sfrc ^ f rTe[[ ^iHH

(A) ^

(B) 4iK^JiH

(C) ^

(D)

86. -Q^ ^ "r?^ # aifq^

irfera chir^i4)iafl ^ WFif

-  , A' ^ MPiclrfH ^ ̂ ̂RRTT ^

• ^iBvIIcft "I ?

(A) ^PdUWcll

(B) t+ilfvichi JiH^Hd

(C)

■ (D)

84. Which one of the following is not a

function of glial cells ?

(A) Providing nutrients to the neurons

.(B) Generating action potential

(C) Cleaning up the remains of dead

neurons

85.

(D) Producing myelin

An area of neurons running through the

middle of the medulla and the pons,

which is responsible for general

attention, alertness and arousal is called

as :

(A) Broca's Area

(B) Reticular Formation

(C) Wemicke Area

(D) Basal Ganglia ./

86.

(3)S/18/2024/A 11

The ability within the brain to constantly

change structure and function of many

cells in "response to experience or trauma

is known as :

(A) Shallow lesiohing

,(B) Cell regeneration

(C) Deep lesioning

(D) Neuroplasticity
I

P.T.O.
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87. ^ f^' 1%^ 1^

m WTTf^ "3^ ^

•  , "STO "51^ t,

"fe^RT oiai^y. :

(A)

(B) . <i^'^'ll t^T^SRT

(C) fe[RT

(D) fTORT

88. ^ ̂  "Q;^

^ ̂  ̂  "TO t, ̂

tfm>J|icHcti ^Rt4l ^ %Q; "^xR^FTt

f ?

(A)

(B)

(C) PdN^ ̂

(D) P^u41=8hJ^

89. ^ ^ ^

^ ■3c^sJl=ti<'Ji ^ si^MiPici ^rar ^

t' ?

(A)

(B) #RRT

(C) ^ ̂

(D) 31^%^ "arJTW

(3)S/18/2024/A 12

87. Theory of human motivation in which

the social context of an action has an

• effect on the type of motivation existing

for the action; name the theory :

(A) Expectancy theory

(B) Arousal theory

(C) Self-determination theory

(D) Hierarchy theory

88.. A curved structure located within each

temporal lobe, responsible for the

formation of long-term declarative

memories, is called :

(A) Hypothalamus

(B) Thalamus

(C) Limbic system
s

(D) Hippocampus

89. The presumed ability to perceive a

stimulus that is below the tlireshold for

conscious experience is known as :

(A) Differential threshold

(B) Absolute threshold

(C) Just noticeable difference

(D)- Subliminal perception

https://applink.adda247.com/d/XhqWf9lSap
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90. 8-12 64,'^ ^

^ «ti6eiia1 "t' ?

(A) cT^'

• (B) ̂

(C) 37^

(D) ̂

91. ^ (1953) ii- ^

3TWFT t5T^^TI^ ^

yPdMKH f^" ^

1^ ?m) ̂  ̂  -m

5!1T I

(A) ̂ hrf^ 37^tTFT

(B) -d^HicHch

(C) 3m

(D) "3?^^

92.' 1^3^ ̂SSTT -q^sif ̂  -rmi

"qit^pq Rnk. Rti^i ■^sn^

mn t :

(A) ^ m

(B) ^ tfeqr

(C) ^

'(D) ^feqr

(3)S/18/2024/A 13

90. Brain waves at a frequency of 8-12 Hz

are called as :

(A) Beta waves

(B) Theta waves

(C) Alpha waves

(D) Delta waves- ^

91. Cherry (1953) propounded an experiment

to study. .- by using shadowing

teclinique where subjects were assigned

task of dichotic listening.

(A) Sustained Attention
/

(B) Selective Attention

(C) Hearing Sensation

(D) Perception

92. An apparatus used for testing infants and

young animal's depth perception is :-

(A) Visual clift

■ (B) Clift ratina

(C) Visual context

(D) Retinal context

P.T.O.
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93. %gjcf ̂  m

■fW ^ .fM=q ^ t:

/  (i) cji^r^cb ^ t; i^~^

.  -^ t I '

(ii) ^ t;

t I -

. (iii) t;

Pi^M-"<^Vi^ ^rd ^ I

(iv) ^Rdw^ ' 'I?!-

t I

(a) fe (^ ST^toT)

(b)

(c) "f^ ^sfBT)

■(d) Rid ^^1<J)Rl

rHHRrlRsJd 4 f^drT :

(A) (i)-(a), (ii)-(b), (iii)-(c), (iv)-(d)

(B) (i)-(b), (ii)-(c), (iii)-(d), (iv)-(a)

(C) (i)-(c), (ii)-(d), (iii)-(a), (iv)-(b)

(D) (i)-(c), (ii)-(a), (iii)-(d), (iv)-(b)

93. As per signal detection theory, looking at

a spot on a X-ray, decision can be either:

(i) Real condition-Cancer is there;

Diagnose-No Cancer. -

(ii) Real condition-Cancer is there;

Diagnose-Cancer is there.

(iii) Real conditiori-No Cancer;

Diagnose-No Cancer.

(iv) Real condition-No cancer;

Diagnose. Yes, there is cancer.

(a) Hit

(b) False Alarm

(c) Miss

(d) Correct Rejection

Choose the correct condition from the

following :

(A) (i)-(a), (ii)-(b), (iii)-(c), (iv)-(d)

(B) (i)-(b), (ii)-(c), (iii)-(d), (iv)-(a)

(C) (iHc), (iiHd), (iii)-(a), (iv)-(b)

(D) (i)-(c), (ii)-(a), (iii)-(d), (iv)-(b)

(3)S/18/2024/A 14
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94. ■ ^ ̂  ^ t ?

(A) ^ - chitni,

iidHl

(B) 3R^ ttt' - xA^

*=i"iT ^ - "dT^,

■  (C) 37^ "RT - -^ndl, %rT

Udi«n

(D) 37ofTJjf ^ - "^ndT,

-  <niei, BTT, "^ftoTT

95. Wk -q^sif -^f -q^FTT
■^feR 37f%m ^ 37GERRT ^
■^jTTcIT t" I
(A) (B) ?re^
(C) ^#TT (D) ^ ̂

96. ^ cI«^T ^ ̂  "R^iZT

t :

(A) ^ (U)

(B) ^ ̂

(C) ^3^ ^ (V)

(D) W^RR fer

(3)S/18/2024/A

94. Which statement about colours is true ?

(A) Achromatic colours - Black, Red,
Grey

Chromatic colours - Yellow, Green,
Brown, Pink

(B) Achromatic colours - Grey, White

Chromatic colours - Red, Blue,
White

(C) Achromatic colours - Black, Grey,
Blue

Chromatic colours.- Green, Brown,
Pink

(D) Achromatic colours -Black, Grey,
White

Chromatic colours - Red, Yellow,
Green, Blue

95 is used to study escape and
avoidance learning in animals.

(A) Skinner Box ' (B) Shuttle Box

(C) Maze ' (D) Hamess

96. The relationship between arousal level
and performance level is graphically
presented as :

(A) Inverted U .

(B) Straight line

(C) Inverted V

(D) Parallel line

15 P.T.O.
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^  ferr' ^3TTcTT t,

•;i'l4crl'l ^ t I

(A) sfOTT^ 37^^

(B) sfcHM 3T^

(C) aT^qm 31^

(D) aT^qm smwr

98._ ^ t^aif
^ "f^ ^

arrrA ̂  ^ ̂  ̂

«1M t I iTOT "qPT "I :

(A) "S^

(B) Hl^'Rlcb

(C) aT?^q?f ^?ijf!T

(D) aTW3

99. ̂  (1992) ̂  ar^ =*il4=hl(l ̂  ̂

#T TT^ WT ■# t :
(A) ^-^icHch

=t)l4Mlcrl^

(B) ^l4Hld=b, 3T%WT^
mfto TijfcT ' .

(C) N-4kHcti 374^3 V^, "fef ^
■q^^

(D) %, arfim.
Wto

97. A factory worker who gets paid per piece
of work finished, is an example
of. ! .reinforcement.

(A) Interval schedule

.  (B) Interval ratio schedule

(C) Ratio schedule

(D) Ratio interval schedule

98. Information required to perform skilled

motor activities such as riding a bicycle

is commonly known as procedural

memory. Another name of it is :

(A) Explicit memory

(B) Episodic memory

•  (C) Semantic memory

(D) Implicit memory

99. According to Baddeley (1992), working

memory consists of three major parts :

(A) Phonological loop, Visuospatial

sketch pad. Central Executive

(B) Central Executive, Procedural

knowledge. Episodic memory

(C) Phonological loop, Semantic

memory. Pattern recognition

(D) Visuospatial sketch pad, Kinesthetic

learning, Episodic memory

(3)S/18/2024/A 16
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100. wrm

wte t 1

(A) yPsb^kMcb

(B) "SIFfe

(C) 3T8fn?T FjfcT

(D)

101. ffe ^ rHHPciRslcl ^ "3^

yPdHK=bT ^ "^81 :

(a) (i) 'ii-^K

(b) ^ci^-HpKicti "^fe (ii) FfhR^

(c) fc^PiilW (iii)

.  (d) ^ (iv)

PdMPdP^d ^ ̂ ^ 3TW "SiR

^pJiy, :
•  . \

(a) (b) (c) (d)

■  (A) (iv) .(i) (ii) (iii)

(B) (i) (ii) (iii) (iv)

(C) (ii) (iii) (iv) (i)

(D) (iii) (iv) (i) (ii)

{3)S/18/2024/A 17

100. Sentence verification task is a technique

of studying :

(A) Procedural memory

(B) Episodic memory

. (C) Semantic memory

(D) Flash bulb memory

101. Match the following concepts of

intelligence -with their propounders :

(a) Compqnential (i) Gardner

intelligence

(b) Interpersonal (ii) Spearman

intelligence

(c) Specific factors (iii) Thurstone

•(d) Perceptual speed (iv) Stemberg

Give your answer using the following

codes :

(a) (b) (c) (d)-

(A) (iv) (i) (ii) (iii)

(B) (i) (ii) (iii) (iv)

(C) (ii) (iii) (iv) (i)

(D) (iii) (iv) (i) (ii)

P.T.O.
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102. PHHrcriRdd ^ ̂  ^

t ?

(a) cR^

(b) ^

(c) "^fe

(d) jn^Tte HUpHch ■Ml'^dlit
PHHRrlfed ^ "3tR ^t%3; :
(A) (a) aik (b) ^ t .
(B) (c) (d) t
(C) (a) sfk (c) W t
(D) (b) 3k (d) ^ f

103. ^ 3TSM ^'ifsFk 3^?^
^ f", PHHPdP^d T?^ ^ 3<l^<ui
t :

(A) WRRq^ (B)

(C) (D) idcfqmct)

104. 3lfq^ 3PkT ^ WTT^ ^
f i PHMPdPsId t ?

(a) TI^

(b).

(c) =('iT=b<i'l

(d) -iidl+i"!

ft'-lfaRaci ^ ■'ET^ ^3^ 3>T
:

(A) (a) alk (c) #ff ^ t I
(B) (b) alk (c) #if t I
(C) (c) SIR (d) ^ t I,
(D) (a) 3lk (b) #if ^ t I

(3)S/18/2024/A 18

102. Which of the following are thought to be
similar with general factor ?

.  (a) Fluid intelligence

(b) Crystallized intelligence

(c) Working memory

(d) Primary mental abilities

• Give your answer from the following :

(A) (a) and (b) are correct
(B) (c) and (d) are correct

(C) (a) and (c) are correct

(D) (b) and (d) are correct

103. "All objects that are black or square or
both", is an example of the following
concepts :

(A) Affirmative (B) Conjunctive

(C) Disjunctive (D) Conditional

104. There are two general classes' of
experiments in concept learning. Which
of the following are correct ?

(a) Reception

■  (b) Selection

(c) Categorization

(d) Minimization

Choose the correct answer from the'

following codes :

(A) Both (a) and (c) are true

(B) Both (b) and (c) are true

(C) Both (c) and (d) are true

(D) Both (a), and (b) are true

https://applink.adda247.com/d/XhqWf9lSap
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105. ^ 31^, rHHPdRsid
1

"3^ HlKll'ch

3lf^ ^ h<^Ri '^* ?

(a) W^«imT

(b)

(c) ^

(d) ^l^lFldT

PiHRnRaci "StR ^

chlPny. :

(A) (a) 37k (b) t I

(B) (b) 37k (d) ̂  t 1

(C) (a), (b) 3fk (c) ̂  t 1

(D) (d) ̂  t I

106.' MNdl .iJ.di1d><>J| feRi ̂

37^^7H 373^."^ ̂  1^ 1^?^W37f

■^- ■3^7kk7

I ' - ■

Rdd "^^77^ ^Ry, :

(A) kr^Tf^, wte

(B) ^-dlRrld, W^TRR

(C) PdR^d

(D) 37ci^ddkHch,

(3)S/18/2024/A 19

105, According to Torrance, on which of the
c

following factor/factors, creative people

tend to score high ?

(a) Diversity

(b) Numerosity

(c) Appropriateness of Response'

(d) Novelty

Choose correct answer from the

following codes :

(A) Only (a) and (b) are true

(B) Only (b) and (d) are true

(C) (a), (b) and (c) are true

(D) Only (d), is true

106. According to the feature integeration

theory, distributed attention allows us to

register features using

Fill in the blanks :

(A) Controlled, serial processing

(B) Automatically, Parallel processing

(C) Consciously, Fixed research

(D) Subconsciously, Random research

P.T.O.
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107. RnrdRsid ^

-m-^, t ?

(A)

■ (B)

(C) sftr ^2?^

(D) "nr^ '

108. STTWTTctT^ "SZTto

Pi^RiRaci ̂  '^' HR<^icrHii

^ t :

(A) 3ntiiWi^ (B) "?m

(C) ' (D) r^dlPl-H

109. A, B f 1

B, C t I
A, C t I

y=t>K action '=ti5^> "^* :

(A)

(B)

(C) cT^

(D) aiMIHdlcMdi cicb'^ll

110. ̂  ̂  i^^ddT 3|R M^-dcldT ^ ̂
^T^FJTT^.t; rfl ^ "51^

d^ti^ii «t>6i didi "i" :

(A) 34MlHdlcMdi d=h^ll

(B) "d=Fj^

(C)

(D)

(3)S/18/2024/A

107. Who one of the following conceptualized

that a creative individual takes a buy-low,

sell-high approach to ideas ?

(A) Torrance

(B) Getzels

(C) Stemberg and Lubart

(D) Gardner

108. Individuals using inductive reasoning

state any conclusion about a hj^pothesis

in terms of the following :
\

(A) Premises (B) Conditions

(C) Likelihood (D) Syllogisms

109. All A are B.

All B are C.

Therefore, all A are C.

This form of reasoning is called :

(A) Categorical syllogism

(B) Linear syllogism

(C) Conditional reasoning

(D) Inductive reasoning

110. When you affirm or deny the antecedent

and consequent, this type of reasoning is

called :

(A) Inductive Reasoning

(B) Conditional Reasoning

(C) Linear Syllogism

(D) Categorical Syllogism

20
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111. ^ ^^RTT RhoSici "t «s(aicii

"I '^* chT^cHH

sfjft ^ ^TPT^iRt ^cIT

■  t ?-

■ (A) ̂ -#T

(B) i'l'i-'^T^

(C)-

(D) ^ yrdPsh^I

112. #Tf ̂  3ik

^iWf, "^" Ri<?c5 «i(pA, ^ ■^3iT^
■  17 fsrf^p^ «=^Rki^1 ■^*

^ ?

(A) .(B) i<sei<

(C) (D) i^R^H

113. arm^T^sif ^ H<\iM M^lfdd
Ph^l 2TT ?

■  (A)

(B) "SPm

(C) Wh^

(D)

114. "f^

eldl "I" ^ IfRT 1^ «TRT "^T?^
t 3^ 31^ ^ Rsleii^l ^ # I

■ (A) 3^7^ , , (B)

(C) (p) *imT

(3)S/18/2024/A 21

111. The theory of emotions that states that

.the thalamus sends sensory information

to the cortex and the sympathetic organs
at the same time, is the theory.

(A) James-Lange

(B) Cannon-Bard

(C) Schachter-Singer

(D) Facial Feedback

112. Which of the Neo-Freudians discussed

about neurotic personalities as moving
towards people, moving against people
or moving away from people ?

(A) Jung (B) Adler

(C) Homey (D) Erickson

113. Who proposed the hierarchy of needs ?

(A) Abraham Maslow

(B) Sigmund Freud

(C) Erik Erickson

(D) Albert Bandura

114. People high in the need for. want

to be liked by others and are good team

players.

(A) Achievement (B) Affiliation

(C) Power (D) Emotion

P.T.O.
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115. ^ OT y^lPcid

(A) Ad>d<rll(^u^ (B) -sTs^i
(C) (D)

116. ■^a'li ^ [q^r^iiRci =ti<^ ^
"SRRT =ti<ii "Q;^ m^k '^' '"t I
(A) TTW^JRM *3^H

'  (B) eqpT

(C) aid^VlcHch
(D) ^

117. HT^-^fer RRhc^l OT "fef^
^ iRit «it ?

(A) (B) ^
(C) (D)

118. C^) ^
■foRTT "W f ?■

(A) ^ (B) ^
(C) -gf^ ■ (D).tM^

119. GAS ^ 3n7m t :
(A) ^Rq=t) ^3,=tyni "^RPTT
(B) HBFT srg^i^

(C) WTFT

(D) WTHI "^RHT

120. rHHRlRsId ^ cHT^ ^
^ t ?

(A)

(B) ^ . .

(C)

(D)

(3)S/18/2024/A 22

115. Need for power was proposed by :

(A) McClelland (B) Yerkes Dodson

(C) Cormack. (D) Thomson

116. Trying to expand consciousness outward
is a type of :

(A) Receptive Meditation

(B) Concentrative Meditation

(C) Implosive Meditation

(D) Displacement Meditation

■ 117. Client-centered therapy was developed
by:

(A) Bandura (B) Roger

(C) Sulivan (D) ' Maslow

118. Motivation word is derived from which

Latin word ?

(A) Movere

(C) Movirr

(B) Emovere

(D) Mosere

119.

120.

GAS model stands for :

(A) Global Adaptation Scale

(B) General Adaptation Syndrome

(C) Gefieral Adoption Symptom

(D) General Acquiring Scale

Which among the following is not a
technique of stress management ?
(A) Biofeedback
(B) Creative Visualisation
(C) .Relaxation
(D) Pathogens

https://applink.adda247.com/d/XhqWf9lSap
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121. ̂  ^ TTTm ^ ^

h1^ "^jRWf "f^T^^ffcr

t, "3:^ 1^ •5THT -^Tmr. t ?

(A) o^Hki'td

(B)

■(C) wnf^'

(D) UuikIhui

122. CTtT "qm ^

oH^CK cti<^ .f^ "Sftd =tJ<ai ^ ̂

■^4^1 ^ 41fqa sSk n^i'1

'wmr ^ I 11

■  (A) f4chl^cji({l -qf^g^

(B)

(C)"w=n?q^

(D) 'tT5qi^"qftd^

123. "^ft^ WT ^ ^

t^?

(A) ^

(B) 37^^ ^"^-1.1

(C) ^

(D) f«T^- sSk

121. The process through which we seek to

determine the causes behind other's

behaviour is known as :

(A). Individual difference

(B) Attitude

(C) Social realism

(D) Attribution

.(3)S/18/2024/A

122. Our inherited human nature predisposes

us to behave in ways that helped our

ancestors survive and reproduce. This

supports :

(A) Evolutionary perspective

(B) Biological perspective

(C) Cognitive perspective

(D) Phenomenological perspective
I

123. The notion of life space is emphasized

by :

(A) George Hom^s

(B) Albert Bandura

(C) Kurt Lewin

(D) Thibaut and Kelley

23 P.T.O.
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124. oijrctd'id ^ ^

t 37k "3?^ iijrijIchH ^
f, ̂  ■^' '"^ "I I

.  (A) wnf^

(B) 3Tm^

'  (C) r^ditSui ^

(D) ^jyfdT

125. wnto #TT "qr, ■^*,
T?:^ 3{f^T^ lH%fe t :

(A) ^ ̂  "STTO

(B) ^ ̂

(C) ^
(D) ^ ̂  31c|(vil=hH ^TTTTT

126. WTTto ^ 133^ f^*
^ 37f^ TT^ ^
^ -qr srte Bqf^* ^

(A) 375^1^ (B) aiM^TTfM

(C) Wl^Pd (D) TTH^-

127. sT^ajT % ^ -mm ^ ̂

-m^ mm ̂  ̂
"^7^ ^ncH f :

■  (A) <J)d^dl

(B) wnto Mm

(C) WFTfMn ^ T7t^

.(D)

(3)S/18/2024/A 24

124. When individual efforts are pooled and
a group product is the unit of assessment,

this applies to :

(A) Social loafing

(B) Evaluation apprehension

(C). Distraction conflict

(D) Entirety

125. An essential determinant of whether

social facilitation will occur is :

(A) Type of task

(B) Duration of task

(C) Task evaluation

(D) Observing the task

126. A form of.social influence in which one

•  or more persons, not holding authority,

accept direct requests from one or more
others :

(A) Compliance (B) Obedience

(C) Acceptance (D) Norm

127. The expectation that helping others will

increase the likelihood that will help us
in future is known as :

(A) Gratitude

(B) Social Exchange

(C) Norm of Reciprocity

(D) Empathy Hypothesis

https://applink.adda247.com/d/XhqWf9lSap
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128.- WTTte ^

"d^T "5^ "t :

(A) ^ hmMh

(B) •^, ^

(C) feRT, "5^^ "R^' "SfcT^fB

(D) feRT,

129. StT^T^ ̂  -g^ t :

(A) TlrqMt^nTTT, "^'^^HvOd ^

(B) "HwNot, oMqeiRcfi 3^

(C) WHRR^, sik

(D) WPTRR^, 37R

130. ̂  ^ ̂?2RT ̂  3TW7^

^  f 3|k oqci^K

^ 37gqRU[ qR^ ̂  I -gRT

"f^ ^chdl ^ :

(A) gn^dH

(B) WTTf^ 3TfWT feB

(C) 1^RI?n-3TOR^ HR=bQ^HI

(D) d^vriHi ^Hld<u|

(3IS/1 8/2024/A

128. The three main functions of theory in

applied social psychology are : i

(A) Organisation, Management and

Guide Interventions

(B) Organisation, Direction and Guide

Interventions.

(C) Development, Management and

Feedback

(D) Development, Organisation, and

Feedback

129..The three main components of attitude

are :

(A) Perceptive, Sensitive and Reactive

(B) Perceptive, Behavioural and Reactive

(C) Cognitive, Sensitive and Affective

'  (D) Cognitive, ̂ Behaviotel and

Affective

130. Children can observe aggressive

behaviour via media and imitate that

behaviour. This can be suggested by : '

(A) ■ Operant reinforcement

(B) Social Learning theory

•  (C) Frustration-aggression hypothesis

(D) Excitation transfer model

25 P.T.O.
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131. ^ ^

(A) WTOT ̂

^  yPdJHrl, ^Wldi'JI V^

■  ̂ mim

(B) "51^^ yPddHH, ̂

^^ld<u| ̂  ^Wldi"! 13^'

(C) ^Rqi; mte yPddHd,

^Wld<u| ""qn PddiW, ^WId<>J| -q^*

(D) 3n^^ ■^, yPdMHH, ^wid<'ui qq

f^j^, ^wid^iJi 13;^*

wP<i ^ mim

132. PdHPdP4dd qitq^ 4hP^*

'1^ q^OT qjt ^ qff t ?

(A) qjq feq^Hk?ir

(B) -qqbq ^ q?q ^sTH^t

(C) MM«t) qit

(D) ^ arqrq

131. Arrange the' course of a therapeutic
psychoanalysis in a sequential order :
(A) Opening phase, development of

transference, n working through,
regression, resolution of
transference and treatment

termination

(B) Opening phase, regression,
working through, development
of transference, resolution of
transference and treatment

termination

(C) Working through, opening
phase, regression, development
of transference, resolution of
transference and treatment

termination

(D) Opening phase, regression,
development of transference,
working through, resolution
of transference and treatment

termination

132. Which one of the following is not a

limitation of unstructured mental status

examination ?

(A) Low reliability

(B) In-depth information about the

client

(C) Lack of normative data

(D) Lack of generalization
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m  ̂ t ?

(A) 'm WHT^ W ̂  "qF^fPT

^  ̂ t I

(B) ^ <aa<iicti fqcti^rH

•^* ̂  fwt t i

(C) ̂  ^ ̂nlRliil* ^ ^

d=hHl=bT ̂

^ 31^1# ■^* ^ I

(D) ^ etVil ^ 3i^Plt
oq^ ^ ^ ^dddl

t I ■

134. ^lddlcH4) ^ 3lf^ PHHrdRsId

^ -f^ ^ wiW ^ t ?

(1) a^^qRq -^tI^

(2) dKlcHlct)<u|

(3) "^ten

(4) "3^ "3^:wiT OT "^terr

PHHrdRsId <iM^dd ^ ̂
:

.  (A) (1), (2), (3)

(B) (2), (3), (4)

(C) (1), (2), (4)

(D) (1), (2), (3), (4)

|3)S/18/2024/A

133. Which one of the following is not a goal

of cognitive behavioural therapy ?

(A) It challenges the thoughts regarding

a specific situation by identifying

cognitive traps.

(B) It helps people to recognize less

threatening alternative.

(C) It does, not allow people to learn

self-help techniques to cope with

challenges.

(D) It gives freedom to people to choose

their life-style and behaviours.

134. In emotional development, learning

•■ occurs by using which of the following

methods ? /

(1) • Learning by Imitation •

,  (2) Learning by identification

•  (3) Learning by conditioning

(4) Learning by free recall

Choose appropriate code from below :

(A) (1). (2), (3)

(B) (2), (3), (4) ■

(C) (1), (2), (4)

(D) (1), (2), (3), (4) ■
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135. WRkRTT ̂

t :
%

(i) wRqcli ^ fqcja

(ii) WTTto, ̂ HH<K PHWH

(iii) ^ wn

(iv) 37^ wfe -^{m

Pl*^RrtPsici '^* ^

:

(A) (i) sk (iii)

(B) (i)3fk(iv)

(C) (i), (ii) sfk (iii)

(D) (i), (ii), (iii) 4? (iv) .

136. Tnt^^ ^ 4=rit sramHT

^ 3Tmf%^ ^ i\h

qciini t" ?

(A) ̂ fqqi (B) "^RTHTcR^

(C) (D) HHlAvelPN^

137. ^ f^ t

HHcidNKi pT^lPchrHI ^ t :

(A) Pd^VllrHch "STfTfrT

(B) qii4qie1

(C) ^ «ZTPT

(D) "qcf "qr

135.. Characteristics of an effective counselor

include :

(i) Open to change

(ii). Auth'entic,- honest and sincere '

(iii) Sense of humour

(iv) Good interpersonal skills

Choose appropriate code from

below :

(A), (i) and (iii)

(B) (i) and (iv)

(C) (i), (ii) and (iii)

-(D) (i), (ii), (iii) and (iv)

136. Which model of psychopathology

explains abnormal behaviour as caused

by illogical thinking ?

(A) Biological (B) Cognitive

(C) Behavioral (D) Psychoanalytic

137. Humanistic therapies are different from

jjsychoanalysis because humanistic

therapies are :

(A) .Directive in nature

(B) Aetion oriented

(C) Focused on unconscious and hidden

conflicts

(D) Focused on conscious thoughts and

behaviour

(3)S/18/2024/A 28

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


138. PHHRiRsJd :

( fwofilirt )

(1) ^

(2) iaTR^.

(3) "fer ^■c^scii

(4)

(TjfrPTT^)

(a) "^^hpf

(b) i7T^

(c) ^(r-s<4i<

(d) A^KlltS-S
rHHprlRsId ^ ^M^idd ^ ̂  W

(a) (b) (c) (d)

1  2 .3 4(A)

(B)

(C)

(D)

139. ^ ^ 3TT^ t' I ^
3Tq^ ^ -q^ ^

^  ̂ m T^T t I ^
^ ̂  3Tq^ ■^oiial %, fft "d?
^ ̂  ̂  t I •■qmr ddjHldi
^ TiqW "dil t" I

-(A) q^rife'q

(B)

(C) fq<pKi FqPtiv^i ■

(D) iid4cH

(3)S/18/2024/A

138. Match the following :

List I List II

(Theory) (Propounder)

(1), Need Hierarchy (a) Herzberg

(2) ERG. (b) Maslow

(3) Motivator- (c) Alderfer

Hygiene

(4) Three need (d) McClelland

Choose appropriate code from below :

(a) (b) (c) (d)

(A) 1 2 3 4

(B) 3 4 2 1

(C) 2 3 1 4

(D) 4" 2 3 1

139. Sheela has a habit of nail biting. She

tries to modify this behaviour by wearing

a band aroimd. her wrists. Whenever she

bites' her nails, she snaps the band. She

is using the technique called :

(A) Flooding

(B) Systematic Desensitization

(C) Aversion Therapy

(D) Reinforcement
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140. ^ "^TTfe

■ ■ t :

(i)

(ii) 1^^

(iii)

(iv)

PHHrciRdd ^ ̂  d4<i=kl ^ ̂ 'Em
:

(A) (i), (ii), (iii) '

(B) (i), (iii), (iv)

(C) (ii),,(iii), (iv)

(D) (i), (ii), (iii), (iv)
•A

141. ^ fHHPcrifed

■^f ^ "=1^ t ?

(A) oqqsK ^ 81%
-qf™ ^ t I

(B) ^ ^
^ 3Rm t I '

(C) ^ "SRTR ^ a^fiPTfTTcT
t I

(D) ^ "qqi SRITTFT t I
I

142. 37H^ ^ 13^* M 3T2T^
3TW^5RIT 61-C||C1 ^n^ctilui
"^rqi^RT ^ I

(A) (B) 3iicHii*sqi^

(C) (D) -aqfqWT

140. Roles of an effective teacher includes :

(i) Facilitator .

(ii) Instructional expert

(iii) Motivator

(iv) Manager

Choose appropriate code from

below :

(A) (i), (ii), (iii)

(B) (i), (iii), (iv)

(C) (ii); (iii), (iv)

(D) (i), (ii), (iii), (iv)

141. Which among the following statements is
not true regarding conflict behaviour ?

(A) The goal of conflict behaviour can
be harmful to the other person.

(B) A person suffering from conflict
behaviour tries to defend him/'

herself.

(C) Conflict is a ■ type of learning
behaviour.

(D) Conflict is an abnormal behaviour

142. The pursuit of pure pleasure and
avoidance of pain or discomfort is
referred to as...'. approach.

(A) Hedonic (B) Eudaimonic

(C) Romantic (D) Convergence
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143. PHHr^Rdd ^ 3Tfvmr5RT

^ ̂ "=1^ t ?

(A) ̂ feFWT

(B) ̂ zTf^FTcT

(C) aneqrf^ fera

(D) TT^M-feHT

144. '^«n^s2f' ^ ci<l=t)

1^ "w t I "?T^. -^kmi

#it :

(A) ^ MPdr^H t I

(B) mk ̂  JH'^Pdd t I-

(C) ■^: Wtf^, H\i\h^,
^IHlPv^idi sfk 3nWkT^ d)c-4|U| ^

■ks# f I

(D) Wlf^ ^ Tldt^ 11

145. PdHprlPsId A' ^ srfM^
qilp;ichi ^kn f ?

(A) ^
(B) HPw*blci<ui

(C) 1^ -.

(D) 3TMW

146. i%T #[fr -^f 'Wf ^
-qrl ^ t I

(A) "(B)
(C) ^ idd-dlM . (b) -

(3)S/18/2024/A 31

143. Which among the following components
is not related to post-traumatic
development ?

(A) Change in perspective

(B) Personal strength

(C) Spiritual Growth

(D) Effect Growth

144. The term 'Health' is defined in many
ways. The most accurate definition
would be :

(A) Health is the reflection of a sniiling
face.

(B) Health is the state of body bailee
condition.

(C) Health is a state of complete
physical, mental, social and spiritual
well-being..

(D) Health is a symbol of social
prosperity.

145. Wliich among the following diseases is
caused by uncontrolled cell growth ?

(A) Cancer

(B) Meningitise

(C) Heart-Attack

(D) Stroke

146. 'Sense of Shame' is high with people
who are suffering from :

(A) Thyroid (B) AIDS

(C) Hypertension (D) Diabetes
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147.."t-?r^ rHHRrlfeld ^ ^

•  i :

■  (A) TOqr ^dKlcHd) sfk

(B) ̂

(C) WRf WT "^* ̂

(D) fTOT

148. PdMRrir^d ^ cT^fM

^  ̂ t ?

(A) ^JWT

(B)

(C)

(D) i\^

149. 313^ ^

^ 3lf^^^ -qr % %TT t ?

(A) 37^;^^ - 15 (a)

(B) 315^^ - 16 ■

(C) 3T5^ - 34

(D) 315^ - 39 (a)

150. 3Tff0 ̂  "Cr^ oiiRtdJid "[^T t

■?T^. "q;^- •■314 ^ i I

(A) ^HimFddi (B) siRR'S^f^

(C) (D) -qr^
(3)S/18/2024/A 32

147. e-Leaming is specifically good for :

(A) Managing interactive self-study and

tutorial

(B) Reduce learning

(C) Increase the consultation time

(D) Control biases

148. Which of the following is not related to

educational technology ?

(A) Hardware approach

(B) Software approach

(C) System analysis

(D) Hawthorne analysis

149. Which Article of Indian Constitution

emphasises that men and women equally

have the right to an adequate means of

livelihood ?

(A) Article - 15 (a)

(B) Article - 16

(C) Article - 34

(D) Article - 39 (a)

150. Non-violence is not only a personal

virtue but it is also a virtue.

(A) Social (B) Ecological

■  (C) Temporal . (D) Lateral
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